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DAV SR.SEC.PUBLIC SCHOOL, JHINGURDA
Holiday Home work- session -(202425)
Subject-English. Class- VI

Q-1- Write in short about the strategies which you have made to spend the holidays and
also write how can you make it more productive in respect of English preparation.

Q.2-Write hundred verb forms from any grammar book which you have and leamn it.

Q-.3- write the format of formal letter ,informal letter, notice ,message, article, diary
entry ,speech writing, email ,and paragraph writing at least two times in your grammar

copy.

Q.4- Describe your daily routine during the summer holidays by using present indefinite
tense and also write all the tense structures.( 72 structures of all the tenses)

Q.5- explain about the character sketch of the king and the hermit of chapter 1 in your
own words and draw the Concept Map of chapter 1,2,3 in Literature reader.



D AV SR.SEC. PUBLIC SCHOOL, JHINGURDAH PROJECT
SUMMER VACATION HOME WORK 2024
CLASS-VIII  SOCIAL SCIENCE

Answer the following guestions in Holiday HW copy.

1. India became a popular destination for whom in 17" Cent.

2. “The Age of Imperialism in India began with the weakening and disintegration of the Mughal Empire”.
Explain the statement. -

3. What do you mean by Factories? -

4. Name the things that were bought by the European traders at cheap rates from India.

5. Name the trading posts of East India Company in India.

6. Name the three presidency settlements of East India Company in India.

7. Mention the factors that helped the East India Company to start their rule in Indi'a?

8. What do you mean by Carnatic Wars?

9. Write a short note on Second Carnatic War.

10.
11,
12,
13,
14,
15.
16.
17.
18,
19.

20.
2%,
22.
23,
24,
25.

What were the consequences of the Third Carnatic War?

Why did Siraj-ud-Daulah turned against the British?

Between whom and when was the Battle of Plassey fought.

Explain the consequences of the Battle of Plassey?

Mir Qasim was installed as the Nawab of Bengal by the British. Why did they turn against him?
Mention the consequences of the Battle of Buxar?

Who became the First Governor General of Bengal and when?

Name the territories occupied by Hyder Ali.

What was the result of the Second Anglo-Mysore War?

Write a short note on the Fourth Anglo-Mysore War.

Suggest any five ways to reduce the wastage of resources.

“The use of resources varies from one country to another”. Justify the statement.
How can you say that India has an Independent Judiciary?

What do you mean by Universal Adult Franchise?

What do you mean by ‘Rule of Law’? Explain.

Why Preamble is called the "Soul of the Indian Constitution’? -
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10.

11.

12

13.
14.

Chapter-1

Squares and Square Roots

Which of them is a perfect square?

a) 576 b)941 c)65 d)none

Which of the following is not a perfect square?

a)62500 b)57600 ¢)90000 d)63147

Which of the following will have 4 at units place?

a)14* b)62* )27  d)35°

By observing the digits at ones place ,tell which of the following can be perfect square
a)l00 b)927 ¢)625 d)576

If one number of the Pythagorean triplet is 2m then the other two are

a)m, m+1  b)m*+1,m*1  c)mim%+1 d)m , m?

How many natural numbers lie between 5°and6°?

a)9 b)J10 )11 d)12

Which of the following triplets are Pythagorean?

a)(8,15,17) b)(12,35,38) c) (14,48,51)

Which of the following is the square root of 70567

a)86 b)34 «c)54 d)84

Find the squares of the following numbers

)25 )30 iii)12

Find how many non-square number lie between the following pair of numbers
)100 and121 ii)8%and 9’ iii)30°and31°

Find the square root of the following numbers by repeated subtraction method
)9 ii)121 iii)225 iv)196

Find the square root by prime factorisation

i)64  ii)289 iii)36 iv)1764

Can a right triangle with sides 6cm, 8cm and 10cm be formed, give reason.

Find the smallest number by which 147 must be multiplied so that it becomes a perfect square.

Also, find the square root of the number so obtained.



10.

11,

12.

13,

Chapter-2

Cubes and Cube Roots

The cube of 11 s

a)1331  b)3113  ¢)1313  d)3131

The number of zeros in the cube of 1000

a)2 b)4 c)9 d)1o

The cube of (--21) is

a)9261 b)—9261 ¢)—2961 d)—9216
The cube roots of 63x73 is

a)216 b)—42 c)42  d)—216

The cube root of is

-64
-

a)- b)-= -z d):

Given that /x = —6 thenx s

a)216 b)18 ¢)—18  d)—216

Given that 512=8%, 3.375= 1.5%, find the value of /512 x ¥/3.375

a)12  b)9.5 c)8 d)1.5

Write the cubes of all natural numbers between 1 and 20 and verify the following statements

a) Cubes of all odd natural numbers are odd.

b) Cubes of all even natural numbers are even.

Werite cubes of 5 natural numbers which are multiples of 3 and verify the cube of natural

number, which is multiple of 3 is multiple of 27.

Write cubes of 5 natural numbers of the form 3n+1(e.g. 4,7,10) and verify that the cube of

natural number of the form 3n+1 is natural number of same form.

Which of the following are perfect cube

)1728 i) 106480.

Which is the smallest number by which 392 must be multiplied so that the product is a perfect

cube?

What is the smallest number by which 8640 must be divided so that the quotient is a perfect

cube?



